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∆𝑑𝑠.



𝜎 =
𝑁

𝐴
. (2.1)

 

∆𝑑𝑠

𝜀 =
𝜎

𝐸
=

𝑁

𝐸𝐴
, (2.2)

∆𝑑𝑠 =
𝑁 𝑑𝑠

𝐸𝐴
. (2.3)



∆𝑑𝜑

∆𝑑𝜑 =
∆ 𝑑𝑠

𝑟
=

𝑁 ∙ 𝑑𝑠

𝐸 ∙ 𝐴 ∙ 𝑟
.

(2.4)

∆𝑠 = ∫
𝑁 ∙ 𝑑𝑠

𝐸 ∙ 𝐴

𝑠

0

(2.5)

∆𝜑 = ∫
𝑁 ∙ 𝑑𝑠

𝐸 ∙ 𝐴 ∙ 𝑟
.

𝑠

0

(2.6)

 

𝜏 =
𝑇 ∙ 𝑆

𝐼 ∙ 𝑏
, (2.7)

𝑆 𝐼 𝑏

∆𝑑𝛿



∆𝑑𝛿 = 𝑘’ ∙
𝑇 ∙ 𝑑𝑠

𝐺 ∙ 𝐴
, (2.8)

𝑘’

𝑘’ =
𝐴

𝐼2
∫

𝑆2

𝑏2
∙ 𝑑𝐴

𝐴

. (2.9)

 

• 

• 

𝜎𝑥

𝜎𝑟 𝜎𝑟 = 0



𝜌

𝑢



𝑢1

𝑢2

𝛾 = 𝑟 − 𝜌

𝑐1𝑑1 ∆𝑑𝜑.

𝑑𝑠 = (𝜌 + 𝑧) ∙ 𝑑𝜑

𝑐1𝑑1 ∆𝑑𝑠 =

𝑧 ∙ ∆𝑑𝜑

𝜀𝑥𝑥 =
∆𝑑𝑠

𝑑𝑠
=

𝑧

𝜌 + 𝑧
∙

∆𝑑𝜑

𝑑𝜑
. (2.10)

𝜎𝑥 = 𝐸 𝜀𝑥𝑥 = 𝐸 ∙
∆𝑑𝜑

𝑑𝜑
∙

𝑧

𝜌 + 𝑧
. (2.11)

𝑧 = −𝜌).



 

∑ 𝐹𝑥 = 0 ;      𝑁 = ∫ 𝜎𝑥 ∙ 𝑑𝐴 = 0

𝐴

(2.12)

∑ 𝑀𝑦 = 0 ;      𝑀𝑦 = ∫ 𝜎𝑥 ∙ 𝑧 ∙ 𝑑𝐴 = 𝑀

𝐴

(2.13)

∑ 𝑀𝑧 = 0 ;      𝑀𝑧 = ∫ 𝜎𝑥 ∙ 𝑦 ∙ 𝑑𝐴 = 0

𝐴

(2.14)

∫ 𝜎𝑥𝑑𝐴 = 𝐸
∆𝑑𝜑

𝑑𝜑
∫

𝑧

𝜌 + 𝑧
𝑑𝐴 = 0

𝐴
𝐴

.

𝐸
∆𝑑𝜑

𝑑𝜑
𝐸

∆𝑑𝜑

𝑑𝜑
≠ 0

∫
𝑧

𝜌 + 𝑧
𝑑𝐴 = 0

𝐴

. (2.15)

𝜌 + 𝑧 = 𝑢,     𝑧 = 𝑢 − 𝜌,



∫
𝑧

𝜌 + 𝑧
𝑑𝐴 = 0 = ∫ 𝑑𝐴 − 𝜌 ∫

𝑑𝐴

𝑢
= 0.

𝐴𝐴𝐴

𝜌 =
𝐴

∫
𝑑𝐴
𝑢𝐴

. (2.16)

𝛾 = 𝑟 − 𝜌 = 𝑟 −
𝐴

∫
𝑑𝐴
𝑢𝐴

. (2.17)

𝜎𝑥

∫ 𝜎𝑥 ∙ 𝑦 ∙ 𝑑𝐴 = 𝐸
∆𝑑𝜑

𝑑𝜑
∫

𝑦 𝑧

𝜌 + 𝑧
𝑑𝐴 = 0

𝐴𝐴

∫
𝑦 𝑧

𝜌 + 𝑧
𝑑𝐴 = 0

𝐴

(2.18)

𝑑𝐴

𝜌 + 𝑧

𝜎𝑥

𝑀 = ∫ 𝜎𝑥 ∙ 𝑧 ∙ 𝑑𝐴 = 𝐸
∆𝑑𝜑

𝑑𝜑
∫

𝑧2

𝜌 + 𝑧
𝑑𝐴.

𝐴
𝐴

(2.19)



∫
𝑧2

𝜌 + 𝑧
𝑑𝐴 = ∫

𝑧2 + 𝜌 ∙ 𝑧 − 𝜌 ∙ 𝑧

𝜌 + 𝑧
𝑑𝐴 = ∫

𝑧(𝑧 + 𝜌)

𝜌 + 𝑧
𝑑𝐴 − 𝜌 ∫

𝑧

𝜌 + 𝑧
𝑑𝐴.

𝐴𝐴𝐴𝐴

∫
𝑧

𝜌+𝑧
𝑑𝐴 = 0

𝐴

∫
𝑧2

𝜌 + 𝑧
𝑑𝐴 = ∫ 𝑧 ∙ 𝑑𝐴 − 0 = 𝑆𝑦

𝐴𝐴

. (2.20)

𝑆𝑦

𝑆𝑦 = 𝐴 ∙ 𝛾. (2.21)

𝑆𝑦

𝛾

𝑀 = 𝐸
∆𝑑𝜑

𝑑𝜑
𝑆𝑦 (2.22)

∆𝑑𝜑

𝑑𝜑
=

𝑀

𝐸𝑆𝑦
. (2.23)

𝜎𝑥 =
𝑀

𝑆𝑦
∙

𝑧

𝜌 + 𝑧
(2.24)



𝜎𝑥 =
𝑀

𝑆𝑦
∙

𝑧

𝑢
. (2.25)

𝜎𝑥

𝜎𝑥(1) =
𝑀

𝑆𝑦
∙

ℎ1

𝑢1

𝜎𝑥(2) = −
𝑀

𝑆𝑦
∙

ℎ2

𝑢2
. (2.26)

 

𝑟

ℎ
> 5

𝑟

ℎ
≤ 5

𝜌

∫
𝑧

𝜌 + 𝑧
𝑑𝐴 =

1

𝜌
∫

𝑧

1 +
𝑧
𝜌

𝑑𝐴 = 0

𝐴𝐴

∫
𝑦 𝑧

𝜌 + 𝑧
𝑑𝐴 =

1

𝜌
∫

𝑦 𝑧

1 +
𝑧
𝜌

𝑑𝐴 = 0,

𝐴𝐴

𝑆𝑦 = ∫
𝑧2

𝜌 + 𝑧
𝑑𝐴 =

1

𝜌
∫

𝑧2

1 +
𝑧
𝜌

𝑑𝐴,

𝐴𝐴

𝜎𝑥 =
𝑀

𝑆𝑦
∙

𝑧

𝜌 + 𝑧
=

𝑀

𝑆𝑦 ∙ 𝜌
∙

𝑧

1 +
𝑧
𝜌

.

𝑟)
𝑧

𝜌



1

𝜌
∫ 𝑧 ∙ 𝑑𝐴 = 0;     ∫ 𝑧 ∙ 𝑑𝐴 = 𝑆𝑦 = 𝐴 ∙ 𝛾 = 0.

𝐴𝐴

(2.27)

𝑟

𝜌 = 𝑟
𝑧

𝜌

1

𝑟
∫ 𝑦 ∙ 𝑧 ∙ 𝑑𝐴 = 0;     ∫ 𝑦 ∙ 𝑧 ∙ 𝑑𝐴 = 𝐼𝑦𝑧 = 0

𝐴𝐴

(2.28)

𝑆𝑦 =
1

𝑟
∫ 𝑧2𝑑𝐴 =

𝐼𝑦

𝑟
;           𝑆𝑦 ∙ 𝑟 = 𝐼𝑦

𝐴

    (2.29)

𝜎𝑥 =
𝑀

𝑆𝑦 ∙ 𝑟
∙ 𝑧 =

𝑀

𝐼𝑦
∙ 𝑧.     (2.30)

𝑟

ℎ
= 5

𝑟

ℎ
= 10

𝑟

ℎ
= 15

𝑟

ℎ
≤ 5

𝑟

ℎ
> 5



 

 

𝑑𝑥

𝑁, 𝑇𝑦, 𝑇𝑥, 𝑀𝑥, 𝑀𝑦 𝑖 𝑀𝑧 .

𝑀𝑥 𝑀𝑥

𝑑𝑈 = 𝑑𝑈(𝑀𝑡) + 𝑑𝑈(𝑀𝑦) + 𝑑𝑈(𝑀𝑧) + 𝑑𝑈(𝑁) + 𝑑𝑈(𝑇𝑦) + 𝑑𝑈(𝑇𝑧). (3.1)



𝑈(𝑁) = ∫
𝑁2 ∙ 𝑑𝑥

2𝐸𝐴

𝑙

0

(3.2)

𝒅𝒙

𝑇𝑧

𝜏𝑥𝑧 =
𝑇𝑧 ∙ 𝑆𝑦

𝐼𝑦 ∙ 𝑏
(3.3)

𝑑𝑥

𝑑𝑈(𝑇𝑧) = ∫
1

2 𝐺
∙

𝑇𝑧
2 ∙ 𝑆𝑦

2

𝐼𝑦
2 ∙ 𝑏2

∙ 𝑑𝐴 ∙ 𝑑𝑥 =
𝑇𝑧

2𝑑𝑥

2 𝐺𝐴
∙

𝐴

𝐼𝑦
2

∙ ∫
𝑆𝑦

2

𝑏2
𝑑𝐴

𝐴𝐴

𝑈(𝑇𝑧) = 𝑘𝑧 ∙ ∫
𝑇𝑧

2 ∙ 𝑑𝑥

2 ∙ 𝐺 ∙ 𝐴

𝑙

0

(3.4)

𝑘𝑧

𝑘𝑧 =
𝐴

𝐼𝑦
2

∙ ∫
𝑆𝑦

2

𝑏2
∙ 𝑑𝐴

𝐴

(3.5)

𝑇𝑦



𝑑𝑈(𝑇𝑦) = ∫
1

2 𝐺
∙

𝑇𝑦
2 ∙ 𝑆𝑧

2

𝐼𝑧
2 ∙ 𝑏2

∙ 𝑑𝐴 ∙ 𝑑𝑥 =
𝑇𝑦

2𝑑𝑥

2 𝐺𝐴
∙

𝐴

𝐼𝑧
2

∙ ∫
𝑆𝑧

2

𝑏2
𝑑𝐴

𝐴𝐴

𝑈(𝑇𝑦) = 𝑘𝑦 ∙ ∫
𝑇𝑦

2 ∙ 𝑑𝑥

2 ∙ 𝐺 ∙ 𝐴

𝑙

0

(3.6)

𝑘𝑦

𝑑𝑥 𝑙

𝑑𝑈(𝑀𝑡) =
𝑀𝑡 ∙ 𝑑𝜑

2
=

𝑀𝑡
2 ∙ 𝑑𝑥

2 ∙ 𝐺 ∙ 𝐼𝑡

𝑈(𝑀𝑡) = ∫
𝑀𝑡

2 ∙ 𝑑𝑥

2 ∙ 𝐺 ∙ 𝐼𝑡

𝑙

0

(3.7)

𝑀𝑦

𝑑𝑥 𝑙

𝑑𝑈(𝑀𝑦) =
𝑀𝑦 ∙ 𝑑𝜑

2
=

𝑀𝑦
2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑦

𝑈(𝑀𝑦) = ∫
𝑀𝑦

2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑦

𝑙

0

. (3.8)

𝑀𝑧 .

𝑑𝑈(𝑀𝑧) =
𝑀𝑧 ∙ 𝑑𝜑

2
=

𝑀𝑧
2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑧

𝑈(𝑀𝑧) = ∫
𝑀𝑧

2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑧

𝑙

0

(3.9)

𝑙



𝑈 = ∫
𝑁2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐴

𝑙

0

+ ∫ 𝑘𝑦

𝑇𝑦
2𝑑𝑥

2 ∙ 𝐺 ∙ 𝐴

𝑙

0

+ ∫ 𝑘𝑧

𝑇𝑧
2𝑑𝑥

2 ∙ 𝐺 ∙ 𝐴

𝑙

0

+ ∫
𝑀𝑡

2𝑑𝑥

2 ∙ 𝐺 ∙ 𝐼𝑡

𝑙

0

+ ∫
𝑀𝑦

2𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑦

𝑙

0

+ ∫
𝑀𝑧

2𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑧

𝑙

0

.

(3.10)

𝑥𝑧 𝑇𝑦 = 𝑀𝑧 = 𝑀𝑡 = 0

𝑈 = ∫
𝑁2 ∙ 𝑑𝑥

2 ∙ 𝐸 ∙ 𝐴

𝑙

0

+ ∫ 𝑘𝑧

𝑇𝑧
2𝑑𝑥

2 ∙ 𝐺 ∙ 𝐴

𝑙

0

+ ∫
𝑀𝑦

2𝑑𝑥

2 ∙ 𝐸 ∙ 𝐼𝑦

𝑙

0

. (3.11)

𝑑𝑠 𝜑

∆𝑑𝑠 =
𝑁 ∙ 𝑑𝑠

𝐸 ∙ 𝐴
+

𝑀 ∙ 𝑑𝑠

𝐸 ∙ 𝐴 ∙ 𝑟

∆𝑑𝜑 =
𝑁 ∙ 𝑑𝑠

𝐸 ∙ 𝐴 ∙ 𝑟
+

𝑀 ∙ 𝑑𝑠

𝐸 ∙ 𝑆𝑦 ∙ 𝑟
.

𝑈 = ∫
𝑁2 ∙ 𝑑𝑠

2 ∙ 𝐸 ∙ 𝐴
+ ∫

𝑀2 ∙ 𝑑𝑠

2 ∙ 𝐸 ∙ 𝑆𝑦 ∙ 𝑟
+ ∫

𝑁 ∙ 𝑀 ∙ 𝑑𝑠

𝐸 ∙ 𝐴 ∙ 𝑟
+ 𝑘 ’ ∫

𝑇2 ∙ 𝑑𝑠

2 ∙ 𝐺 ∙ 𝐴
.

𝑠

0

𝑠

0

𝑠

0

𝑠

0

(3.12)

𝑆𝑦 ∙ 𝑟 ≈ 𝐼𝑦

𝑈 = ∫
𝑁2 ∙ 𝑑𝑠

2 ∙ 𝐸 ∙ 𝐴
+ ∫

𝑀2 ∙ 𝑑𝑠

2 ∙ 𝐸 ∙ 𝐼𝑦
+ 𝑘 ’ ∫

𝑇2 ∙ 𝑑𝑠

2 ∙ 𝐺 ∙ 𝐴

𝑠

0

𝑠

0

𝑠

0

. (3.13)



 

𝐹1, 𝐹2, … , 𝐹𝑛

𝛿1, 𝛿2, … , 𝛿𝑛

𝑈

𝐹𝑖 𝛿𝑖

𝑈 = 𝑈(𝛿1, 𝛿2, … , 𝛿𝑛). (3.14)

𝑑𝑈 =
𝜕𝑈

𝜕𝛿1
𝑑𝛿1 +

𝜕𝑈

𝜕𝛿2
𝑑𝛿2 + ⋯ +

𝜕𝑈

𝜕𝛿𝑛
𝑑𝛿𝑛 (3.15)

𝑑𝛿𝑘 𝛿𝑘

𝑑𝑈 =
𝜕𝑈

𝜕𝛿𝑘
𝑑𝛿𝑘

𝐹𝑘

𝐹𝑘 ∙ 𝑑𝛿𝑘

𝑑𝑈 = 𝐹𝑘 ∙ 𝑑𝛿𝑘.



𝐹𝑘 =
𝜕𝑈

𝜕𝛿𝑘
. (3.16)

δ

𝑈 = 𝑈(𝐹1, 𝐹2, … , 𝐹𝑛) (3.17)

𝐹𝑘 𝑑𝐹𝑘

𝑑𝑈 =
𝑑𝑈

𝑑𝐹𝑘
𝑑𝐹𝑘. (3.18)

𝐹1, 𝐹2, … , 𝐹𝑛 𝑑𝐹𝑘

∑ 𝐹𝑖 ∙ 𝑑𝛿𝑖 = 𝑑𝐹𝑘 ∙ 𝛿𝑘

𝑛

𝑖=1

(3.19)

𝑑𝛿𝑖

𝛿𝑘 𝐹𝑘

𝑑𝐹𝑘

𝑑𝑈 =
1

2
𝑑𝐹𝑘 ∙ 𝑑𝛿𝑘 + ∑ 𝐹𝑖 ∙ 𝑑𝛿𝑖

𝑛

𝑖=1

. (3.20)

𝜕𝑈

𝜕𝐹𝑘
𝑑𝐹𝑘 =

1

2
𝑑𝐹𝑘 ∙ 𝑑𝛿𝑘 + 𝑑𝐹𝑘 ∙ 𝛿𝑘 (3.21)



𝛿𝑘 =
𝜕𝑈

𝜕𝐹𝑘
. (3.22)

𝛿𝑘

𝑋1, 𝑋2, … , 𝑋𝑛

𝑋1, 𝑋2, … , 𝑋𝑛

𝛿1 =
𝜕𝑈

𝜕𝑋1
,     𝛿2 =

𝜕𝑈

𝜕𝑋2
, … , 𝛿𝑛 =

𝜕𝑈

𝜕𝑋𝑛
.

𝜕𝑈

𝜕𝑋1
= 0,     

𝜕𝑈

𝜕𝑋2
= 0, … ,

𝜕𝑈

𝜕𝑋𝑛
= 0.

𝑋𝑖.



 





⁰

𝑆𝑎 = (0,0186 + 0,025
𝑦𝑎

𝑑𝑖
)

𝐹𝑎

𝐿𝑎𝑦𝑎
× 106 [𝑘𝑁/𝑚2] (4.1𝑎)

𝑆𝑏 = (0,0186 + 0,025
𝑦𝑏

𝑑𝑖
)

𝐹𝑏

𝐿𝑏𝑦𝑏
× 106 [𝑘𝑁/𝑚2]     (4.1𝑏)

𝑆𝑐 = (0,0186 + 0,025
𝑦𝑐

𝑑𝑖
)

𝐹𝑐

𝐿𝑐𝑦𝑐
× 106 [𝑘𝑁/𝑚2]     (4.1𝑐)

𝑆 =
𝑆𝑎 + 𝑆𝑏 + 𝑆𝑐

3
 [𝑘𝑁/𝑚2]     (4.2)



 

𝑋

𝜑 =
𝑑𝑈

𝑑𝑋
=

1

𝐸𝐼
∫ 𝑀 ∙

𝑑𝑀

𝑑𝑋
∙ 𝑟 ∙ 𝑑𝜑 = 0

𝜋
2⁄

0

.

𝑀𝜑

𝑀𝜑 = 𝑋 +
𝐹 ∙ 𝑟

2
∙ (1 − 𝑐𝑜𝑠𝜑);     

𝑑𝑀

𝑑𝑋
= 1;      0 ≤ 𝜑 ≤

𝜋

2

𝑀𝜑 



1

𝐸𝐼
∫ [𝑋 +

𝐹 ∙ 𝑟

2
∙ (1 − 𝑐𝑜𝑠𝜑) ∙ 1 ∙ 𝑟 ∙ 𝑑𝜑] = 0

𝜋
2⁄

0

𝑋 = −0,1817 ∙ 𝐹 ∙ 𝑟

𝑀𝜑

𝑀𝜑 = 𝐹 ∙ 𝑟 ∙ (
1

𝜋
−

𝑐𝑜𝑠𝜑

2
)

𝛿 =
𝑑𝑈

𝑑𝐹

𝑑𝑀

𝑑𝐹
= 𝑟 ∙ (

1

𝜋
−

𝑐𝑜𝑠𝜑

2
)

𝛿 =
𝑑𝑈

𝑑𝐹
= 4 ∙ ∫

𝑀 ∙
𝑑𝑀
𝑑𝐹

𝐸𝐼
∙ 𝑟 ∙ 𝑑𝜑

𝜋
2⁄

0

= 4 ∙ ∫
𝐹 ∙ 𝑟 ∙ (

1
𝜋 −

𝑐𝑜𝑠𝜑
2 ) ∙ 𝑟 ∙ (

1
𝜋 −

𝑐𝑜𝑠𝜑
2 )

𝐸𝐼
∙ 𝑟 ∙ 𝑑𝜑

𝜋
2⁄

0

𝛿 = 0,1448 ∙
𝐹 ∙ 𝑟3

𝐸𝐼

𝛿 = 0,1448 ∙
𝐹 ∙ (

𝑑3

8
)

𝐸 ∙
𝐿 ∙ ℎ3

12



𝐸 ∙
ℎ3

12
∙

1

𝑑3
= 0,0186 ∙

𝐹

𝐿 ∙ 𝛿

𝑆

𝑆 =
𝐸𝐼

𝑑3
= (0,0186 + 0,025

𝛿

𝑑
) ∙

𝐹

𝐿 ∙ 𝛿

0,025
𝛿

𝑑

𝜑 = 90⁰ 𝑀 = 0,3183 ∙ 𝐹 ∙ 𝑟

𝜑 = 0⁰ 𝑀 = −0,1817 ∙ 𝐹 ∙ 𝑟

0,3183 ∙ 𝐹 ∙ 𝑟

0,1817 ∙ 𝐹 ∙ 𝑟





𝐴 = 0,6 ∙ 5 = 3 𝑐𝑚2



𝑟

ℎ
> 5

𝑟 = 𝑅 + 𝑧𝑇 = 100 + 3 = 103 𝑚𝑚

𝑟

ℎ
=

103

6
= 17,2 > 5 

𝑀 =
𝐹 ∙ 𝐿

4
=

5 ∙ 0,096

4
= 0,12 𝑘𝑁𝑚

𝜎𝑥 =
𝑀

𝐼𝑦
∙ 𝑧

𝐼𝑦 =
𝑏 ∙ ℎ3

12

𝜎𝑥 =
𝑀

𝐼𝑦
∙ 𝑧 =

𝑀

𝑊𝑦
=

𝐹 ∙ 𝐿
4

𝑏 ∙ ℎ2

6

=
3 ∙ 𝐹 ∙ 𝐿

2 ∙ 𝑏 ∙ ℎ2

𝜎𝑥 =
3 ∙ 5 ∙ 103 ∙ 96

2 ∙ 50 ∙ 62
= 400 𝑀𝑃𝑎

𝐸

𝛿



𝛿 =
𝐹 ∙ 𝐿3

48 ∙ 𝐸 ∙ 𝐼

𝐸

𝜀 =
𝜎

𝐸
=

3 ∙ 𝐹 ∙ 𝐿
2 ∙ 𝑏 ∙ ℎ2

𝐹 ∙ 𝐿3

48 ∙ 𝐼 ∙ 𝛿

=
6 ∙ ℎ

𝐿2
∙ 𝛿



𝐴 = 160 ∙ 20 ∙ 2 + 30 ∙ 120 = 10000 𝑚𝑚2

𝑧𝑇 =
120 ∙ 30 ∙ 15 + 2 ∙ 160 ∙ 20 ∙ 110

10000
= 75,8 𝑚𝑚

𝑁 = −15 𝑘𝑁 = −15 000 𝑁

𝑀 = 𝑃 ∙ 𝑟 = 15 000 ∙ 575,80 = 8,637 𝑘𝑁𝑚

𝑟 = 𝑅 + 𝑧𝑇 = 500 + 75,8 = 575,8 𝑚𝑚

𝑟

ℎ
=

575,8

190
= 3,03 < 5

𝜌 =
𝐴

∫
𝑑𝐴
𝑢𝐴

=
10000

2 ∙ 20 ∙ 𝑙𝑛
690
530

+ 120 ∙ 𝑙𝑛
530
500

= 569,9 𝑚𝑚     𝑛. 𝑜. (𝑀)

𝛾 = 𝑟 − 𝜌 = 575,8 − 569,9 = 5,9 𝑚𝑚

𝑆𝑦 = 𝐴 ∙ 𝛾 = 10000 ∙ 5,9 = 59000 𝑚𝑚3



𝜎𝑥 =
𝑁

𝐴
+

𝑀

𝑆𝑦
∙

𝑧

𝜌 + 𝑧

𝑧

𝑧1 = 𝑢1 − 𝜌 = 690 − 569,9 = 120,1 𝑚𝑚

𝑧2 = −(𝜌 − 𝑢2) = −(569,9 − 530) = −39,9 𝑚𝑚

𝑧3 = −(𝜌 − 𝑢3) = −(599,9 − 500) = −69,9 𝑚𝑚

𝜎𝑥(1) =
𝑁

𝐴
+

𝑀

𝑆𝑦
∙

𝑧1

𝜌 + 𝑧1
=

−15 ∙ 103

100 ∙ 102
+

8,637 ∙ 106

59 ∙ 103
∙

12,01 ∙ 10

69 ∙ 10
= 23,98 𝑁𝑚𝑚2

𝜎𝑥(2) =
𝑁

𝐴
+

𝑀

𝑆𝑦
∙

𝑧2

𝜌 + 𝑧2
=

−15 ∙ 103

100 ∙ 102
+

8,637 ∙ 106

59 ∙ 103
∙

(−3,99) ∙ 10

53 ∙ 10
= −12,52 𝑁𝑚𝑚2

𝜎𝑥(3) =
𝑁

𝐴
+

𝑀

𝑆𝑦
∙

𝑧3

𝜌 + 𝑧3
=

−15 ∙ 103

100 ∙ 102
+

8,637 ∙ 106

59 ∙ 103
∙

(−6,99) ∙ 10

50 ∙ 10
= −21,96 𝑁𝑚𝑚2

𝑧𝑜 = −𝛾 ∙
𝜌

𝛾 +
𝑀
𝑁

= −5,9 ∙
569,9

5,9 −
8,637 ∙ 106

15000

= 5,9 𝑚𝑚
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